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M H: EtherNet/IP

EtherNet/IPF= &, HESHEIFEE “IP” 8, 7EEtherNet/IPM 4 EREXTQANSCLINAERTIA E),
AMFRIFEAN B THLEGSETAN, URNMIEENEEEZIEtherNet/IPFAICIPE R, RIKAFRAERE
EtherNet/IPBY T/ESNIR, EATCHRIEEFERARIESE, EAXZERBREFE—RIIEtherNet/IPEIL4H

-

7,

XFABPLCAH P, AMPH 4 T —48ktfni%BA (aoi) FAFESCHINZ FIERA. XZHAOIR IAfEMARRRXINE
il B 1518 A 4B A k15 5k BRockwell CompactLogixsiControlLogix PLCEI R Rz &= M i, it
FRFAFIBRIRENES. zip X EIER PSR, R~HIRSLogix (&M Fv20RILERRA) FEFFARBIERAOI
X4, AOIFTIAFEXE R E], (https://www.applied-motion.com/sites/default/files/APPNOGA6A-
EtherNet-IP-Add-On-Instructions-for-RSLogix.zip )

AMPiZ1#tclass1#class3iE#E, SMEEMEATIFEMES. dasslEZENFEFETITSS (SR
MBS EINEE) REH, Mcass3iEEATFLXZEBRERUEEZLEHENE, BEEATEINERERE
i%o

iEiEE, XtFEtherNet/IP, FTEHIES EHRICHIA MK E R S AENSHE, RENE L IEF IR H 28
BRI FR AN, TISHISEE T & IXD RN MEIRWHIR A% H,

Class 1 &£

Class TIEREMEE S, AUBERABREHE X R HhL a2 FE AClass 1iEE S N ARSI KR
BRiEE AEAMTEER:

B#RID Size

16itHl | +iftHl | 32 bit DINTS | Bytes e it

I AT SR Eh 25 IR TS B R 7S SR BT X

Oxg4 | 100 n/a 30\ WAAM (BERE) g

0x65 101 14 56 EINAR (IR %ﬁi?ﬂiﬁ% (HRA<251.0% %
=]

0x66 102 nfa 2 EEREFE E}E%ﬂ moreRiEfR. iR

EIFE I 2R IR BN AL FiEENIK
0x67 103 0 0 DA RBREFE SHERKEHES. BRELBE
ERANIZFE (1008101)

IR EN BRI S BRI AL FEENIK

0x68 104 0 0 DBt RSIRIEFE&E P ES T
S 4 m%@%m@%@%ﬁ%mﬁ%
0x70 112 16 64 i AR5 (2515 2 B )
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HARPLGERIRE

General | Connection | Module Infa |

Type: ETHERMET-MODULE Generic Ethemet Module
Vendor: Allen-Bradley
Farent: Local
Name: AMP_S5M |
Description: %
Comm Format:| Data - DINT v

Address / Host Name

@) P Address: W 1 TR

71 Host Name: | |

Status: Offline _ 0K

2 920-0002 Rev. V
12/16/2019



https.//www.bjmoons.com

HWNEFE (0x64)—ZiEA
tiEE S AT SRR EIEERIT A, BRI EIERN30FETEIENT:

R vl
IP Address IPHisiE (Wnterneti&X4wf0)| 4
Status Word REF 2
Alarm Word REF 2
Supply Voltage HIRRE 2
Actual Current SEPRERR 2
Drive Temperature KRR E 2
Encoder Position W3R AIE B2UBHS) 4
Absolute Position @B GIERS) 4
Actual Velocity ERREE 2
Input Status BANRKE (EH) 2
Input Status BARE TR 2 |
Output Status WK - :_— 2

R EMBEIRE VD RMRNLE, EREERAAESEEITH
x,

FrigIl "EEXMER" FERIPHIE AT mAI M Bt I RS, IR ERHES U NERHAE
BY/\LFTRIERO0-255, AUAAENFTERR.

FriEIPHEL - 192 158Y0.40
FEH AN - 192 = 0xCO
168 = OxA8
0 = 0x00
40 = 0x28
FHHE g/ NEC C0 A8 00 28 -> 28 00 A8 CO
FEIAID At 192.168.0.40 -> 0x2800A8C0

BEE, HERFHEUNEHEXLER, FEUXF— 1T 4ERAF BT E 2 H AT

920-0002 Rev.V 3
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Et, — N RGIEERTIAELANT:
Raw: E0032800A8C019000000E90100003802BAFCFFFFC72A0600C3FFFF40000F0F00
Grouped: [E003] [2800A8C0] [1900] [0000] [E901] [0000] [3802] [BAFCFFFF] [C72A0600] [C3FF] [FF40] [000F] [OF00]

HIEMAIWMT, EARMERLT, L““ﬁEiﬂﬁﬁA"‘—IuE’]iuo BXERER, BFSABRMGST. E

B, RERMAE. EMUENEESEHSEY, REELBHMEERER.
Fs: 0xE003
IPHb 3t : 0x2800A8C0 = 0xC0A80028 = 192.168.0.40
R (i%i%rﬁl SCA%) 0x1900 = 0x0019 = 0000 00002081 1001
Zi (RALGHZ) : 0x0000
HE: 0xE901 = 0x01E9 =489 (48.9V)
B (RICHS) 0x0000
mE (BSRITomS) 0x3802 = 0x238 =368 (56.8 degrees C)
wIEELE (BLEPHE) OXBAFCFFFF = O0xFFFFFCBA ) =-838
@ E (BHSPHS) : 0xC72A0600 = 0X00052AC7  =404167
E=E (RIVe$) 0XC3FF =FEC8 =61
reEmA (LISH%) : O0xFF40 X40FF
EwiAN: (RISX&HS) 0x000F = (x0F00
W (om<) 0X0F00 = 0x000F
4 920-0002 Rev. V

12/16/2019



MR (0x65) —HEMA (FA) EF/RHE>PLC
BlEARA251. 08 EBIAT A, MiE AR T RIEAENOTH, BHELZNAHEENT:

TTE FBARAR KiE Ffr TR
0 Status Code K753 32 Bits HSC &4 Rt FEER
1 Alarm Code 1R ZH 32 Bits RALG4 DLt F AR AR
2 Supply Voltage HFEE 32 Bits 0.1VDC ex:242 =242V
3 Actual Current BFrETE (BRFS) 32 Bits mA ex: 1501 = #504A
4 Drive Temperature Xz 888 32 Bits 0.1deg C ex: 305 =/30.54leg C
5 Encoder Position i3 E 2IBEFHS) 32 Bits counts 20,060 courts’=1 B
6 Absolute Position &3 E (32LBHFS) 32 Bits counts 20,000"gunts = 1 &
7 Position Error fIB$&1® (BFS) 32 Bits counts
8 Actual Velocity XFREE (BRHS 32 Bits revisec * 240 | §8U = Zrevisec. BRI AR
=, WACFBRAE
9 Input Status (extended)#I NIRZS(H ) 32 Bits see below also includes output status
10 Input Status (main board)ii NIK7ZS(FEHR) 32 Bits see belgw also includes output status
11 Reserved BB 81t UK TS 32 Bits WSS, SEEDSXH
12 Analog In 1 &I 32 Bits ADQ,counts 0=minV, 16383 = max V
13 Analog In 2 I A2 32 Bits r_ = counts 0 =minV, 16383 = max V

MARTEARER

(I/o’[kll.t\)

12/16/2019

LWANKHAR, E8A0, FTHE, EMREREAAKRDIZE., SHHITHARN, EMNaE8Ah0, SHH
XAR, EMEBTEARBEIZE. MRSAGNETH EHXE) , WRRSIEEN.
Lo%-TIRMARE EiRiH
LV om 173
Pl IN1 IN2 N3 IN4 IN5 IN6 IN7 IN8 enc OuUT1l | OUT2 OuT3 OouT4
index
SSM23IP 1 i 4 n/a n/a n/a n/a n/a n/a 256 n/a n/a n/a
STM23/241P 2 4 6 n/a n/a n/a n/a n/a 1 256 n/a n/a n/a
TSM34IP ) |_ \ 4 8 16 32 64 128 n/a 256 512 1024 2048
ST5/10IP 1 _; 4 8 16 32 64 128 16384 256 512 1024 2048
STR | A ( 2 4 8 16 32 64 128 n/a 256 512 1024 2048
TXM34I: _l 1 2 4 8 16 n/a n/a n/a n/a 256 512 1024 n/a
TXM241P 1 2 4 n/a n/a n/a n/a n/a n/a 256 n/a n/a n/a
SWM241P 2 4 8 n/a n/a n/a n/a n/a 1 256 n/a n/a n/a
STACSIP* 2 4 8 16 n/a n/a n/a n/a 1 256 512 n/a n/a
*DB15 IN/OUT1 Connector
I/OR-H RIMNIRTS fER31.3MEAY R’r=H
Uiz g
i IN1 IN2 IN3 IN4 INS IN6 IN7 IN8 enc
index
STACSIP** 1 2 4 8 16 32 64 128 n/a 256 512 1024 2048
920-0002 Rev.V 5
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GRS FARER - M2fRA R

HEMAXAR, Z8A0, TN, ENMRETEHMCARDIZER. SBHFTAR, ENaEE80, HieHxX
AR, EfNRBTEACEIZR. MRSMGAITHF EEXE) |, WARSIEEM.

G AriG
INLI | IN2 | IN3 | IN4 | IN5 | IN6 | IN7 | IN8 | IN9 | IN1O | IN11 | IN12 | OUT1 | OUT2 | OUT3 | OUT4 | OUT5 | OUT6
SVv200 1 2 4 8 16 32 64 128 256 512 1024 2048 4096 8192 | 16384 | 32768 | 65536 | 131072

Configuration Assembly (0x66) BL B2 FF&
Iti%E 1% R #EtherNET/IP Protocol A FERE &S #, GiFZKWNAHER (RP) , #EXKNE, ZEEZES
WHIHEBARPERHE. .
Heartbeat Input Only Assembly (0x67) (LB RERFE
hZEZESRRERKENEFEXNSR, HENARLZERE MEBAMBAET S, KARNLTFEDN
RS FFEREE.
Heartbeat Listen Only Assembly (0x68) U Bk {X {51 AT 2 7 &
hEZEARFERKENEFENR, HENARLELNE Mk RitiBiaixaizs, EHEnaFEsiik
DI .

Output Assembly (0x70) % tH 284 PLC— 4= HIDEAINg
{5 F E AR A< 251.08 & AR A

R PP SR S — LR TR E EAT I a4 28

e ipti Length '
SR ST Description | g Units Notes
0 Command Word #6420\ | 32 Bits
1 Jog Speed Jod =RINEE 32 Bits Jog Speed 0.25 RPM See JS
2 JogAccel J¢ \_E LNiE & 32 Bits 10RPS? See JA
3 Jog Decgl Jo\ = BhiRiE & 32 Bits 10RPS? See JL
4 Point-to-Point,Velogity = 2| =& & 32 Bits 0.25RPM See VE
5 Point-to-Beiat Agleleration 5| A fnigi | 2B 10RPS? See AC
6 Point-t)Pagirtt Deceleration =2 S HiEE | 32Bits 10RPS? See DE
7 ‘ -l—- FOt-to-point Distance 5.2 S FE 55 32 Bits Motor Steps See DI
Current Command

8 PRNRN . i 0.01A

L4 BT B (150 BR O 25 8 R 32 Bis
9 SCL Command Letters SCL #é& =& 32 Bits 2X ASCIl =5
10 Data/SCLRegister 1 Data/SCL 7525 1 32 Bits CERCEIEPS
11 Data/SCL Register 2 Data/SCL & 7738 2 32 Bits g ES
12 (Reserved){RE 32 Bits
13 (Reserved)ﬁ%J 32 Bits
14 (Reserved)ix 8 32 Bits
15 (Reserved)f® & 32 Bits

6 920-0002 Rev. V
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Command Word: “1E54F" AT ARITIREE:

Bit weE iR
0 0x0 TRRE (EESHSZEZEILRTE)

Ox1 REE
1 Ox2 fiERE
2 Ox4 ElERE
3 Ox8 HATHEXTESL - FL
4 0x10 PUTLEIELN - FP .
5 0x20 FEa#ah - FS (RIERR) a
6 0x40 Fria#Eh - FD (MEBR) aldd
7 0x80 FIa%R - FY (FREEBAFSIIAE)
8 0x100 Fia®a - FM (FRBEERKFS) o~
9 0x200 Friasah - FO (i) ~
10 | 0x400 FrE#N - FC (11T IR B R A )
11 [ 0x800 FEBH - SH(ERS) N\ )
12 [ 0x1000 FHa#BR - FHERR, SEERZNHREE3H)
13 | 0x2000 FrEa# N - FE(SRIBRRIRRE)
14 | 0x4000 BRABEEELWERE - AM
15 [ 0x8000 BREEEINEDEL - DE
16 | 0x10000 FHiE =]
17 | 0x20000 BRI EE, KRHFJOGERE
18 | 0x40000 ZEBHESHITSCLIEER)
19 | 0x80000 | QERMMBEMHIT (QX)
20 | 0x100000 . ShES - AR

HififES (GO -(RERMSERR, HEHELTR

2L | Oxe000% CM=1 1S TR

IR P& A FERe/ AR A _HITEES I ERIBARRAASCLLERERF.

IR BRTAEENEG<(0x40000)5, EftirSHMBAIAMAR. FHit, GLREESEGS (NEEH
HMEREE) zE Exz= REHS (0x0) .

MRGLSB KSUWEN, WA TELE PEIZRIRESHER T &ZEEH145<(0x40000),

920-0002 Rev.V 7
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L
1. EFE T 0: 150 -> 0x02 (bit 1). ELHLIG{ERE.
2. BE T 0: EAIAH0X0 (BRIRES) A T— 1S HUES.

R RE
1. B ST 0: 4§ 0 -> 0x04 (bit 2). FHLIF & fEE.
2. EEITH 0: HALHOXO0 (FARE) AT — M HEHES.

B R RS (FL/FP) HXiEah/4xtiEsh

ERR%ED, BRPORBEEYNBISH, REMiEa.

CEBRTY 4R E (B846: 0.25 RPM)--AEF0, FABILSAE), EBEPITEME

. FEEC T 50 IR E (B2 4L 10 rps?)

CERR T 6: BIRE (B4 10 rps?)

ERTH 7 ES

. 352 JT4 0: MO -> 0x08 (bit 3) FFIAFLIE 25550, B(& M 0-> 0x10 (bit 4. T FPLEXT 75 5.
CER T 0: EGIA0X0 (BRIRE) AT—1MaSHES.

B R EAMBEIS5I1/0 (FS/FD/FY/FM/FO/SH/FE)

1. EER T HADIEERINEE (B AL rev/sec*240) R EF0, "HBEIIESAE, EBEHMITEMSE
2. TESEER TS IS E MR E (BA4L: rev/sec/sec*6)

3. FEEH T 6 IR ERUIE R (B (L rev/sec/sec*6)

4. FEEMHETTETHIEEES (BB steps)

5. FESCLEER1HIEEIOSFEY (IO HiLE)

6. ESCLEFE2HIEEE — Mo B MEMH(NEDIES, A MERER)

7. B EREFETRORBEANGSFRPMENE, EEFHRED,

8. I EFETROREHOLLER T —NEL,

EIEHBEZERF (AM, “IIEMERY)

1. Zf 7T 0: M 0->0x4C00 (E t 14). BHLIESIEELIE.

2. EF T 0: EALA0X0 (2 IR E) AT—1M oS HES.

EIEHETERTF O, “ILEFZEE")

1. 282 7t 0: M 00>.25%8000 (bit 15)EHLIGEESLIE.

2. B T 0: £A0H0K0 (BIRIRE) A T— S HES.

B3 JoonEns, EEER

1. EE e EE1HIEEAINRE (B4L: rev/sec*240) (BEERCCWARIEM, FMARIEES 16 EURNT)
2B ERE TR 2R IS EINIE E (B 1AL rev/sec/sec*6)

3. BT EIFIRERIEER (L rev/sec/sec*6)

4. @ITIGERRTZ0IRE H0x10000 (716) F5EFFIE SN

5. 5FETZOEEAOUEZT—IS.

EHIOGEE (FEEENIENA LR BT IEE)

1. R TTE 1: FHY S 5hEE (B4 0.25 RPM) (BERCCWAH EIEH, 158N AR E)
2. 3B 7t 0: M0x20000 (bit 17) SERTEFIEHIEE.

3. % T 0: EAIAH0X0 (BHRIRTS) A T— SR,

U1 WN =

D HENEIE, [KEEENRREEETENE

8 920-0002 Rev. V
12/16/2019



9. HAXSCLATEIEF
(BXmLIR, BESATERIELNER)
—RRAEAT:
1. 2E TH 9: SCL S &=
a.i¥=: REPANASCIZERS, ETEM64IH
CEEERIT{E 10 (Data/SCL EHEE 1)
L 2EERST{E 11 (Data/SCL &F12282)
. ZEER IT{E 0: A 0x40000 (bit 18) #1744,
ERITTE 0: S A0X0 (BHERE) AT—1M S HMER.
10. QIN#FLIHHIT (QX)
CERR T 10: EHITHIER
. SEEE T 0: M 0 -> 0x80000 (bit 19) FFi&H1TH5 E AIQER.
CEE T 0: E4IA0X0 (BHRIRTS) AT —1M SR,
11. RX=BIHHATIEE (FC)
1. ENEEENHEIEENES, HERAENHSDC
EETEEEHEIENAMNEE, BERENGSVC
3. ERE T4 IEEIBRENIREE (B 4L rev/sec*240)
4, TE 2R TS5 8 E IR E (B {iL: rev/sec/sec*6)
5. FE 5B JTiF 6 FR 48 RE R (B {iL: rev/sec/sec*6)
6. TEEL T 7P IEEIEES (B (L steps)
7. BT LR ITZ0IRE HO0x400 (bit10) RIEEFFI5H s
8. IEEBRTE0IZREAN0, WEET—14S

12, REEN

1. BT i& B &5 T HERIRE S L0 2/0x100000 (big29).
2. BREFETZOREAOLNEET—1M4S,

U WN

WN =

MNFFRMATNBEHEGS, WFO. FSEY W EEData/SCLEFFH1HIEEIOFFEH.

#p11:502L

B HEFENSCLASHRTFERIZI A "SO” | NRERISNERHSASAIFTE, 1BERZERITFSO0X534F+7 st
#data/sclFFEB1FERIEE 92LA0 73t HKfS, KRB TFE: 0x4CB2
HEFNGSIKREMS TN bili8 (0x40000)

%412: FS3R
1#data/sclE B 1FRIKE AR FHHKAE, MTER: 0x52B3iZBLEREEZMNMESZEAL: bits (0x20)

|0AF < IS8 /SCLEF 7725 X 75 .

Enc Index | IN1 IN2 IN3 IN4 IN5 IN6 IN7 IN8 IN9 IN10 | IN11 | IN12
High 0x48B0 0x48B1 | 0x48B2 | 0x48B3 [ 0x48B4 | 0x48B5 | 0x48B6 | 0x48B7 | 0x48B8 | 0x48B9 | 0x48BA | 0x48BB | 0x48BC
Low 0x4CBO 0x4CB1 [ 0x4CB2 | 0x4CB3 [ 0x4CB4 | 0x4CB5 | 0x4CB6 | 0x4CB7 | 0x4CB8 | 0x4CB9 | 0x4CBA | 0x4CBB | 0x4CBC

Rising Edge | 0x52B0 0x52B1 | 0x52B2 | 0x52B3 | 0x52B4 | 0x52B5 | O0x52B6 | 0x52B7 | 0x52B8 | 0x52B9 | 0x52BA | 0x52BB | 0x52BC

Falling Edge | 0x46B0 0x46B1 | 0x46B2 | 0x46B3 [ Ox46B4 | 0x46B5 | Ox46B6 | 0x46B7 | Ox46B8 | 0x46B9 | Ox46BA | 0x46BB | 0x46BC

920-0002 Rev.V 9
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TASCLES
it AEAFMEZERSPEI GOSN ETREEN LK GSHENMERUFEE., XKREMIR.
R Data/SCL | Data/scL | SSM. | s1 | sTM™,
M wEE1 | HEZ2 | S |STACs | sww | SV200 | STF
AD - Analog Deadband Data 0 X X X X
AF - Analog Filter Gain Data 0 X X X X
AG - Analog Velocity Gain Data 0 X X X X
Al - Alarm Reset Input Data 0 X X X aN\N
AM - Max Accel Data 0 X X X JL X
AN - Analog Torque Gain Data 0 X i
AO - Fault Output Data 0 X X X X X
AP - Analog Position Gain Data 0 X X _#~ X X
AS - Analog Scaling Data 0 X X I’x X
AT - Analog Threshold Data 0 X x_ \ X X
AV - Analog Offset Data 0 X _[ X X X
AZ - Analog Zero 0 0 f__.— X X X
BD - Brake Release Delay Data 0 A X X X
BE - Brake Engage Delay Data 0 __l X X X X
BO - Brake Output Data 0 _ X X X X X
CA - Accel Current Data 0 X
CC - Continuous / Running Current Data O\ X X X X X
CD - Idle Current Delay Data _ __‘ —'_J X X
ClI - Idle Current Datg. \, 0 X X X
CM - Control Mode =1/1%E | ata 0 X X X X
CP - Peak Current £ ita 0 X X X X
DC - Set Change Distance Data 0 X X X X
DL - Define Limit Data 0 X X
ED - Encoder Direction o~ Oor1 0 X X
EF - Encoder Function Data 0 X X
EG - Electronic Geari » Data 0 X X X
See 10
EH - Extend<d oming Encoding 0 X X X X X
Table
EP - Encoder Position Data 0 X X
ER - Encoder Resolution Data 0 STAC5
FX - Filter Select Inputs Data 0 X X
GC - Current Command-/15E Bt Data 0 X X
HA - Homing Accel 1’,'2’, or ‘3’ | Data X X X
HC - Hardstop Current Limit Data 0 X X
HD - Hard Stop Fault Delay Data 0 X X
HG - Harmonic Smoothing Gain Data 0 X X X
10 920-0002 Rev. V

12/16/2019



HL - Homing Decel 1,2, or ‘3’ | Data X X

HO - Homing Offset Data 0 X X

HP - Harmonic Smoothing Phase Data 0 X X

HS - Hard Stop Homing Oor1 0 X X

HV - Homing Velocity 1,2, or ‘3’ | Data X X

LP - Software Limit CW Data 0 X X

LM - Software Limit CCW Data 0 X X

MO - Motion Output Data 0 X X X X :_

MO - Motion Output 1,2, or ‘3’ | Data TXM/ .!_

TSM34 -

PA - Powerup Accel Current Data 0 X

PC - Powerup Max Current Data 0 X X _|_x X

PD - In Position Counts Data 0 X X

PE - In Position Timing Data 0 X _I__ X

PF - Position Fault Data 0 XN\ X X

PI - Powerup Idle Current Data 0 X

PM - Powerup Mode Data 0 ‘Tx_ X X X

PP - Powerup Peak Current Data 0 —~ _—|-x X
Register

RL - Register Load (immediate) (ASCII Data X X X X
character] W\

SA - Save Settings 0 AN N X X X X

SF - Step Filter Frequency Data 0 X X

Sl - Enable Input _Tat_'a-‘ 0 X
S elO

SO - Set Output Encoding 0 X X X X
Table

SP - Set Position Data 0 X X X

VC - Change Velocity o Data 0 X X X X

920-0002 Rev.V 11

12/16/2019
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AN
AP <

Data/SCL Register 1

Data/SCL Register 2

AD - Analog Deadband (SV200 Drives)

11 y’ ‘217 or 13!

Data

AV - Analog O [sdt Value - SV200

1,2, or‘3

Data

CN - Secondary Control Mode

DS - Switching Electronic Gearing

EU - Denominator of Electronic Gearing Ratio

FA - Function of the Single-ended Analog
Input

GG - Controller Global Gain Selection

JC - 8 Job Velocities (SV200 drives)

1',2,'3,'4,'5",'6", 7", or '8’

Data

KC - Overall Servo Filter

KD - Di Lerkential Constant

KE - Di Cerential Filter

KF - Velocity Feedforward Constant

KG — Secondary Global Gain

Kl - Integrator Constant

KJ - Jerk Filter Frequency

KK - Inertia Feedforward Constant

KP - Proportional Constant

KV - Velocity Feedback Constant

MS - Control Mode Selection N

PH - Inhibit Pulse Command

PK - Parameter Lock

PL - Position Limit

PV - Secondary Electronic Geari{\g

TO - Tach Output

TT - Pulse Complete Timiia

TV - Torque Ripple

VI - Velocity Inte@atonConstant

VP - Velocity@£0de“wOportional Constant

VR - Velgcit Ry ple

12

920-0002 Rev. V
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3 H R kR

AMPHYEtherNet/IPSEL S0 17 Fclass 3iE#E B RiEZH S EER (UIMM) BXiEEEE. IKBEXEREX
HEIBRZRAIA0X3C, 2EKFSAH0x64.

BT BEXBESN, ELMT THFRETRINRS:

HE I H TS (Volume 1, Section 5-3)

EZEEE S (Volume 1, Section 5-7)

R E (Volume 1, Section 5-50)

#0 (Volume 1, Section 3-7)

LKW $EREXT 5 (Volume 2, Chapter 5)

TCP/IP 3% (Volume 2, Chapter 5)

4B (Volume 1, Section 5-37) Q
CIPEZ3t% (Volume 1, Section 5-47.7)

Documentation can be found in the following ODVA specifications (specific sections are Qve next to
each object name):

Volume One: Common Industrial Protocol (CIP™), edition 3.8
Volume Two: EtherNet/IP™ Adaptation of CIP, edition 1.9

z
Services Q

Ox64 0x00 0x01

Profile Code & ARM Firmware Version

Example response message: 00.75.00.07.41.5F.00.01.03.4A (“Get Attribute
Single”,
Ethernet board) firmware major revision, most sigr@te ingle’)

Ethernet board) firmware major revision, least S|gn|f|ca yte
0x00 = ARM (Ethernet board) firmware minor revision, most i

0x07 = ARM (Ethernet board) firmware minor revision, i
0x41 = ASCII ‘A’, the profile code

0x5F = 95, Model Number (see table below

0x00 = Sub-model Number (see table belo
um
m

0x00 = ARM
0x75 = ARM

—_

0x01 = 1, Drive firmware major revisio
0x03 = 3, Drive firmware minor revision

r(1.xx)
(x.03)
0x4A = ASCII 'J', Drive firmware rysmn tter (x.xxJ)

ARM firmware : [major rev] . {mi reﬁ= [0x0075] . [0x0007] = 117.07

Vendor-Specific Devic o@_ 0x3C 0x64 0x01 0x01

920-0002 Rev.V 13
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BHBREE

AT (a2 A B9iEZ1EtherNET/IPIR I 28 & X AR BN EXE S, classliEE8E X L HEPHSCLIIQHS.
A, 5iBidRS-232. RS-485FAtREIL KM LZERISCLINQM S AR, classTiHEARZIFER, “iE)” SCLEES T
gest it class1iHE .

class2iE BRI T Sclass1iE B AT FHRUMINTNAE, E4RIZEUEBEMNFERMEES, XAMIEBE A UED
class3iE#ZE %1%, WAIMAEEREZMNEEEESE (uemm) .

MG SHRREBLSHMMER, BELEIEREEE.
BrE#EHE — 975, BHUXKEFT (REBAFTHIME) XE

B XSCLFQw 7H71$fﬂiz}fﬁ/‘§’ BB EFHEIEZRLS, FERFHEEESFH0m S W NIETE
&, EtherNET/IP#1# %‘%ﬁfﬁi? [E]4988 TTFIA ]S 1A A # 1B

RB1HEBHEN

ﬁ%Mvaﬁﬂﬁ,m NE1, MEHBIEAEAE BEEMRINEME (NFEEAE) S mEERTE SR
ﬂﬁm%ﬁﬁﬂ XE—MEREAEENNEN, fINMEREEENESBEIE %%uﬂkﬂoﬁii§ﬁﬁ,
ESILAFMEIEE Xscin S RIER 4.

i BTEHIEG Y BHRLEE X (REFHXFHUE) (

HLEa%ER: Q

Bit 7 Bit 6 Bit5 Bit4 = IL 3 Bit 2 Bit 1 Bit 0

BO Reserved |Reserved |Reserved |Reserved |Reserved |Reserved |Reserved |Reserved
=0 =0 =0 =0 [=0 =0 =0 =0

B1 Command Axis Number = 0x0 \C_‘oy\mand Message Type = 0x1

B2 Register, 1/0 or other code here for_sgf‘m; commands (see Table 1), O for all others.

B3 Opcode A\

B4 Parameter1

B5 Parameter2 |

B6 Parameter3 |

B7 Parameter4

Response Mesgage-Format:

Bit 7 _l_r__l 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
BO Re! “rved | Reserved |[Reserved |Reserved |Reserved |Reserved |Reserved |Reserved
[ 70 | =0 =0 =0 =0 =0 =0 =0
B1 w2esponse Axis Number = 0x0 Response Message Type = 0x1
B2 Register code for commands QR, RR, RW and RX, 0 for all others
B3 Opcode
B4 Status Code MSB
B5 Status Code LSB
B6 Unused =0
B7 Unused =0

Type 1 Message Examples
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Example 1: SCL commands required for Point to Point move

AC100 set acceleration rate to 100 rev/sec/sec (6000 rpm/sec)
opcode  0x001E from Table 1
operand 0x258 units are 10 rpm/sec, so 6000 rpm/sec is represented by 600 decimal = 258 hex

Type 1 Command Message Payload Type 1 Response Message Payload
byte 0 0 reserved byte 0 0 reserved

byte 1 1 message type byte 1 1 message type

byte 2 0 unused byte 2 0 unused

byte 3 1E opcode byte 3 1E opcode

byte 4 0 unused byte 4 ? Status Code MSB_ !
byte 5 0 unused byte 5 ? Status Code LS.?_r
byte 6 2 operand MSB byte 6 0 not used .
byte 7 58 operand LSB byte 7 0 not usec

DE100  set deceleration rate to 100 rev/sec/sec (6000 rpm/sec)
opcode  0x001F from Table 1

operand 0x258 units are 10 rpm/sec, so 6000/sec is representod by 600 decimal = 258 hex

Type 1 Command Message Payload Type 1 P;spﬂs_?:/lessage Payload
byte 0 0 reserved byte 0_ - _l_ reserved
byte 1 1 message type byte 1 - 1 message type
byte 2 0 unused Evte 2 0 unused
byte 3 1F opcode e 3 1F opcode
byte 4 0 unused § .l byte 4 ? Status Code MSB
byte5 |0 unused S\ Mbytes |2 Status Code LSB
byte 6 2 operand l‘/IS_B \ byte 6 0 not used
byte 7 58 operand L 3B byte 7 0 not used

VES5 set velocity to 5 rev/sec’ (300 rpm)

opcode  0x001D from{ Talzis 1
operand 0x4B0 <'nitsyaie 0.25 rpm, so 300 rpm is represented by 1200 decimal = 4B0 hex

| Type 1 Conjr.'m mwtssage Payload Type 1 Response Message Payload

| byte O | A reserved byte 0 0 reserved
byte i __1 message type byte 1 1 message type
byte 2 0 unused byte 2 0 unused
byte 3 1D opcode byte 3 1D opcode
byte 4 0 unused byte 4 ? Status Code MSB
byte 5 0 unused byte 5 ? Status Code LSB
byte 6 4 operand MSB byte 6 0 not used
byte 7 BO operand LSB byte 7 0 not used

DI1100000 set move distance to 100,000 steps
opcode  0x00B6 from Table 1
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operand 0x186A0 units are steps, so 100000 is represented by 186A0 hex
Type 1 Command Message Payload Type 1 Response Message Payload
byte 0 0 reserved byte 0 0 reserved
byte 1 1 message type byte 1 1 message type
byte 2 0 not used byte 2 0 not used
byte 3 B6 opcode byte 3 B6 opcode
byte 4 0 not used byte 4 ? Status Code MSB
byte 5 1 operand MSB byte 5 ? Status Code LSB
byte 6 86 operand 2nd LSB byte 6 0 not used
byte 7 AO operand LSB byte 7 0 not used

FL start the “feed to length” move

opcode  0x0066 from Table 1

operand O no operand
Type 1 Command Message Payload Type 1 Response Message Eyluad
byte 0 0 reserved byte 0 0 reserved ‘
byte 1 1 message type byte 1 1 ryessage type ‘
byte 2 0 unused byte 2 0 o\ b aused
byte 3 66 opcode byte 3 64 N\ opcode
byte 4 0 not used byte 4 : Status Code MSB
byte 5 0 not used byte & :I-? Status Code LSB
byte 6 0 not used _byte 6 0 not used
byte 7 0 not used [bvie 7 0 not used
Example 2: setting an outpit

SO2L set output 2 low (close 1)

opcode  0x008B from Table 1

operand 0x4CB2 LSB is “2” = 0xB2. MSB is “L” = 0x4C (see |0 Encoding Table)
Type 1 Commana ﬁes—sage Payload Type 1 Response Message Payload
byte 0 | 0 Lreserved byte 0 0 reserved

‘M1_ _l_ message type byte 1 1 message type
byte 2 0 not used byte 2 0 not used
byte 3 8B opcode byte 3 8B opcode
byte 4 0 not used byte 4 ? Status Code MSB
byte 5 0 not used byte 5 ? Status Code LSB
byte 6 4C operand MSB byte 6 0 not used
byte 7 B2 operand LSB byte 7 0 not used
Example 3: enabling the motor
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ME motor enable

opcode  0x009F from Table 1

operand O no operand
Type 1 Command Message Payload Type 1 Response Message Payload
byte 0 0 reserved byte 0 0 reserved
byte 1 1 message type byte 1 1 message type
byte 2 0 unused byte 2 0 unused
byte 3 9F opcode byte 3 9F opcode
byte 4 0 not used byte 4 ? Status Code MSB
byte 5 0 not used byte 5 ? Status Code LSB
byte 6 0 not used byte 6 0 not used {
byte 7 0 not used byte 7 0 not used _-l

Example 4: SCL commands required for Feed to Sensor mgee

AC200

opcode  0x001E from Table 1

operand 0x4B0 units are 10 rpm/sec, so 12000 rpm/sec is repraser ted by 1200 decimal = 4B0 hex

set acceleration rate to 200 rev/sec/sec (12000 rpm/sec)

Type 1 Command Message Payload Type 1 Re.vr)ci“s: Message Payload
byte 0 0 reserved byte 0__ ]; reserved
byte 1 1 message type byte 1 1 message type
byte 2 0 unused b_/te_2 0 unused
byte 3 1E opcode l_u‘vt«\ 3 1E opcode
byte 4 0 unused ) \byte 4 ? Status Code MSB
byte 5 0 unused __: byte 5 ? Status Code LSB
byte 6 4 operand {ISB\\ | byte 6 0 not used
byte 7 BO operand L ‘B byte 7 0 not used

DE150  set deceleration rate to 150 rev/sec/sec (9000 rpm/sec)

opcode  0x001F fromT<o: 1
operand 0x384

chnitsyare 10 rpm/sec, so 9000/sec is represented by 900 decimal = 384 hex

Type 1 Conmyna. i Message Payload Type 1 Response Message Payload

| byte 0_ n _l_ reserved byte 0 0 reserved
byte 1 1 message type byte 1 1 message type
byte 2 0 unused byte 2 0 unused
byte 3 1F opcode byte 3 1F opcode
byte 4 0 unused byte 4 ? Status Code MSB
byte 5 0 unused byte 5 ? Status Code LSB
byte 6 3 operand MSB byte 6 0 not used
byte 7 84 operand LSB byte 7 0 not used

VE3 set velocity to 3 rev/sec (180 rpm)

opcode  0x001D from Table 1
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operand 0x2DO0 units are 0.25 rpm, so 180 rpm is represented by 720 decimal = 2D0 hex

Type 1 Command Message Payload Type 1 Response Message Payload
byte 0 0 reserved byte 0 0 reserved

byte 1 1 message type byte 1 1 message type
byte 2 0 unused byte 2 0 unused

byte 3 1D opcode byte 3 1D opcode

byte 4 0 unused byte 4 ? Status Code MSB
byte 5 0 unused byte 5 ? Status Code LSB
byte 6 2 operand MSB byte 6 0 not used

byte 7 DO operand LSB byte 7 0 not used

DI5000 set move distance to 5,000 steps (this is the distance beyond the sensor wherg, mc:or will stop)
opcode  0x00B6 from Table 1
operand 0x1388 units are steps, so 5000 is represented by 1388 hex

Type 1 Command Message Payload Type 1 Response Message Eyluad
byte 0 0 reserved byte 0 0 reserved ‘
byte 1 1 message type byte 1 1 ryessage type ‘
byte 2 0 unused byte 2 0 o\ b aused

byte 3 B6 opcode byte 3 Bw‘_ opcode

byte 4 0 operand MSB byte 4 : Status Code MSB
byte 5 0 operand 2nd MSB byte & j? Status Code LSB
byte 6 13 operand 2nd LSB _byte 6 0 not used

byte 7 88 operand LSB Lbﬁf‘e 7 0 not used

FS2R start the “feed to sensor?move;.stop 5000 steps after input 2 rising edge
opcode  0x006B from Table 1
operand 0x52B2LSBis “2" = ( :B2."MSB is “R” = 0x52 (see 10 Encoding Table)

Type 1 Command Message Payload Type 1 Response Message Payload
byte 0 0 | risemed byte 0 0 reserved
byte 1 1 4 | MeSsage type byte 1 1 message type
byte 2 0_ N “nused byte 2 0 unused
byte 3 : '%B_ opcode byte 3 6B opcode
byte « [0 not used byte 4 ? Status Code MSB
byte 5 \ 0 not used byte 5 ? Status Code LSB
byte 6 52 condition (R) byte 6 0 not used
byte 7 B2 ionum (2) byte 7 0 not used
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Type 2 Message Format

Message Type 2 commands provide functionality that is not available with Type 1 commands. This is the only
way to read back information from the drive. All Type 2 commands require and 8 bit opcode and an 8 bit operand.
Return values include a 16 or 32 bit response, as appropriate.

The response message will always echo back the opcode and operand from the command message.
Also contained in the response message is the drive’s status code, unless other information is requested (e.g.
parameter read command). The status code is a bit pattern that indicates useful information such as whether
there is a fault or if the motor is in motion. For more information, please see the section on the SC command
earlier in this manual.

Command Message Format:

Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 N Bit 0

BO Reserved |[Reserved |Reserved |Reserved [Reserved |Reserved ResvrAveT"[ Reserved
=0 =0 =0 =0 =0 =0 10 . =0

B1 Command Axis Number = 0x0 Command Message Type = 0x2

B2 Opcode (see Table 2) r

B3 Operand (see Table 2) N\ p

B4 Data MSB N\

B5 Data LSB [Data 2nd MSB for opcode Ox9E] ~

B6 Unused = 0 [Data 2nd LSB for opcode 0x9E] o\

B7 Unused = 0 [Data LSB for opcode 0x9E] N\

Response Message Format:

Bit 7 Bit 6 Bit 5 IE't_} Bit 3 Bit 2 Bit 1 Bit 0

BO Reserved [ Reserved [Reserved | Reserved |Reserved [Reserved |[Reserved |Reserved
=0 =0 =0 =0 =0 =0 =0 =0

B1 Response Axis Number = ( (C_ \ | Response Message Type = 0x2

B2 Opcode (see Table 2)

B3 Operand (see Table 2)

B4 Status MSB [Data WISB 1ur opcodes 0x84, 0x88, 0x89, 0x9F]

B5 Status LSB [[0 aﬁ SB for opcodes 0x84, 0x88, 0x89] [Data 2nd MSB for opcode 0x9F]

B6 Unused =2 [Dateznd LSB for opcode 0x9F]

B7 Unusec = O_[n.jta LSB for opcode 0x9F]

920-0002 Rev.V 356

12/16/2019




https://www.bjmoons.com
Type 2 Message Examples

Example 1: parameter write

AC100 set acceleration rate to 100 rev/sec/sec (6000 rpm/sec)
opcode 0x83 parameter write, from Table 2
operand Ox1E from Table 3

data 0x258 units are 10 rpm/sec, so 6000/sec is represented by 600 decimal = 258 hex
Type 2 Command Message Payload Type 2 Response Message Payload
byte 0 0 reserved byte 0 0 reserved
byte 1 2 message type byte 1 2 message type 1
byte 2 83 opcode byte 2 83 opcode .
byte 3 1E operand byte 3 1E operand
byte 4 2 data MSB byte 4 ? Status Cgde M&3
byte5 |58 data LSB byte5 |2 Status*Code/ SB
byte 6 0 not used byte 6 0 now, Ib_T-d
byte 7 0 not used byte 7 0 _I_ncf used
Example 2: parameter read
AC read back the acceleration rate
opcode 0x84 parameter read, from Table &
operand Ox1E from Table 3
return value 0x258 units are 10¢nm/si2c, so 6000/sec is represented by 600 decimal = 258 hex
Type 2 Command Message P%:d_‘! Type 2 Response Message Payload
byte 0 0 reserved byte 0 0 reserved
byte 1 2 message ty e byte 1 2 message type
byte 2 84 ori_uode byte 2 84 opcode
byte 3 1E | aperand byte 3 1E operand
byte 4 0 -!_nr t used byte 4 2 read data MSB
byte 5 5 ’not used byte 5 58 read data LSB
byte 6 | not used byte 6 0 not used
byte 7 [9 not used byte 7 0 not used
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Example 3: read absolute position
opcode
operand
return value

from Table 2, indicates abs posn
0x87654321

read 32 bit abs posn/enc posn, from Table 2

Type 2 Command Message Payload

Type 2 Response Message Payload

byte 0 reserved byte 0 0 reserved

byte 1 message type byte 1 2 message type

byte 2 opcode byte 2 88 opcode

byte 3 operand byte 3 1 operand

byte 4 not used byte 4 87 read data MSB

byte 5 not used byte 5 65 read data 2nd MS_B_
byte 6 not used byte 6 43 read data 2nd LRB-
byte 7 not used byte 7 21 read data LSB |

Example 4: read encoder position
opcode
operand O

return value

from Table 2, indicates enc posn
0x12345678

Type 2 Command Message Payload

read 32 bit abs posn/enc posn, from Table 2

Type 2 Re{ rorise Message Payload

byte 0 reserved byte®Q il reserved

byte 1 message type byte 1 2 message type

byte 2 opcode l3>_1e 2 88 opcode

byte 3 operand |i't° 3 0 operand

byte 4 not used o) oyte 4 12 read data MSB
byte 5 not used N byte 5 34 read data 2nd MSB
byte 6 not used - W byte 6 56 read data 2nd LSB
byte 7 not used byte 7 78 read data LSB

Example 5: read @ user‘register 3

opcode

operand  0x3:
return value

rzad\32%it Q register, from Table 2

frowi'Reg Code Table, indicates register ‘3’
ux12345678

Type 2 %ﬁm;\nd Message Payload

Type 2 Response Message Payload

12/16/2019

byte 0 reserved byte 0 0 reserved

byte 1 message type byte 1 2 message type

byte 2 opcode byte 2 9F opcode

byte 3 operand byte 3 33 operand

byte 4 not used byte 4 12 read data MSB

byte 5 not used byte 5 34 read data 2nd MSB

byte 6 not used byte 6 56 read data 2nd LSB

byte 7 not used byte 7 78 read data LSB
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Example 6: read Q register D
opcode Ox9F read 32 bit Q register, from Table 2
operand 0x44 from Reg Code Table, indicates register ‘D’

return value 0x12345678
Type 2 Command Message Payload Type 2 Response Message Payload
byte 0 0 reserved byte 0 0 reserved
byte 1 2 message type byte 1 2 message type
byte 2 9F opcode byte 2 9F opcode
byte 3 44 operand byte 3 44 operand
byte 4 0 not used byte 4 12 read data MSB
byte 5 0 not used byte 5 34 read data 2nd MSB_'
byte 6 0 not used byte 6 56 read data 2nd L 1%_
byte 7 0 not used byte 7 78 read data LSB _|

Example 7: write Q register D
opcode Ox9E read 32 bit Q register, from Table 2
operand 0x44 from Reg Code Table, indicates register ‘D’

data 0x12345678
Type 2 Command Message Payload Type 2 ReTo:se_Message Payload
byte 0 0 reserved byte®Q NG reserved
byte 1 2 message type byte 1 2 message type
byte 2 9E opcode t3>_”ce 2 9E opcode
byte 3 44 operand u’tb 3 44 operand
byte 4 12 data MSB __; [byte 4 ? status code MSB
byte 5 34 data 2nd MSI N\ byte 5 ? status code LSB
byte 6 56 data 2nd Si ] byte 6 0 not used
byte 7 78 data LSB byte 7 0 not used
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Table 1: Message Type 1 Command List

For detailed SCL and Q command descriptions, please see the main section of this manual. When reading
the command descriptions in the main part of this manual, please be advised that the EtherNet/IP encapsulation

often requires that different units, and a different range of acceptable values, be used.

Motion Commands

AC | P_TO_P_ACCEL, 1E |0 accel rate 1..32000
AM | MAX_ACCEL, 16 |0 accel rate | 1.32000 10%amsec
AN | analog torque gain 5F 10 gain factor 100 arws*100
AX | ALARM_RESET BA [0
CJ | START_JOGGING 9% |0
DC | SET_CHNG_DISTANCE B7 [0 |32 bit distance or position +-2,147 433, steps
DE |P_TO_P_DECEL, 1F |0 | Jdecelrate [1.32 10 rpm/sec
DI | SET_REL_DISTANCE B6 |0 [ 32bit distance or position \4433,647 steps
EF | ENCODER_FUNGTION D6 [0 function 0, 6 0 = Encoder function off
1 = Stall Detection
Q 2 = Stall Prevention
6 = Stall prevention w/ time-out
EG | Steps/rev/?2 26 @St siv 100..25600 steps/rev divided by 2
El input noise filter 43 § filter 10..255 filter freq = 15,000,000/E!
value
EP | ENCODER_POSITION 98 |0 er position +/-2,147,483,647 counts
EN | electronic gearing numerator | 2A numerator 0..1000
EU | electronic gearing 2B 10 denominator | 0..1000 set to 0 to turn off electronic
denomintor Y 4 gearing
FC | P_TO_P_CHANGE L 4
FD | feed to double sensor 0 |cond |io2 |cond |iol ST X0..X8, L/H/F/R see 10 Encoding Table
2 1 STACS: X0..X4,1..8.
L/H/F/R
FE | FOLLOWE ER GC |0 cond [io ST. X0..X8, L/H/F/R see 10 Encoding Table
STACS: X0..X4,1..8.
\Q L/H/F/R
FL | feed to lengtn (relative move) | 66 |0
FM | Feed to Sensor with mask 6A |0 cond |io ST: X0..X8, L/H/F/R see 10 Encoding Table
distance STACH: X0..X4, 1..8.
L/H/F/R
FO | feed and set output 68 |0 cond [io ST.Y1.Y4, LorH see 10 Encoding Table
STACS: 1.4, Y1Y2. L
orH
FP | feed to position (absolute 67 |0
move)
920-0002 Rev.V 360

12/16/2019




https://www.bjmoons.com

FS | Feed to Sensor 6B |0 cond [io ST: X0..X8, L/H/F/R see 10 Encoding Table
STAC5: X0..X4,1..8.
L/H/F/R
FY | Feed to Sensor with safety [ 6C [0 cond [io ST. X0..X8, L/H/F/R see 10 Encoding Table
distance STACH: X0..X4, 1..8.
L/H/F/R
GG | global gain select EF [0 gain |1.3 S command
select
HW | Hand wheel AB |0 cond |io ST: X0..X8, L/H/F/R sg 10 Encoding Table
STACS: X0..X4,1..A.
L/H/F/R
JA | VM_ACCEL, 1B |0 jog accel rate | 1..32000 10 rpm/sec
JD | JOG_DISABLE A3 10 |
JE | JOG_ENABLE A2 10 direction
JL [ vM_DECEL, 1c |o jog decel ra 1\@)00 10 rpm/sec
JS | VM_VELOCITY, 1A [0 jog :32000 25 rpm
LM | CCW software limit EA |0 | ccw position I|m|t +/-2,147 483,647 steps
LP | CW software limit E9 |10 | cwposition limi +/-2,147,483,647 steps
MD | MOTOR_DISABLE 9 [0
ME | MOTOR_ENABLE 9F [0 L
PD [ in position counts 7110 in position 0..32767 encoder counts
® counts
PE | in position time 72 {0 in position 0..30000 msec*4
P time
SH | SEEK_HOME, ionum+cond 4<6E | &» cond |io ST: X0..X8, L/H/F/R see 10 Encoding Table
STACS: X0..X4,1..8.
L/H/F/R
SM | STOP_MOVING & B5 |0 decelcode  |D (DErate)or M (AM  |'D’or ‘M’
rate)
SP | SET_AB A5 |0 |32 bitabs position +/-2,147 483,647 steps
TO |tachou 64 |0 tach 0.7 see HCR TO command
code
TV | torque ripple 65 |0 torque ripple | 100 amps*100
VC | CHANGE_VELOCITY, 4A |0 speed 1..32000 25 rpm
VE | P_TO_P_VELOCITY, 1D |0 speed 1..32000 25 1pm
VR | velocity ripple 63 |0 velocity | 0..136 rev/sec
ripple
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Configuration Commands

AS  [Analog Scaling D1 {0 scale code 0.7 0 = single-ended +/- 10 volts
1 =single-ended 0 - 10 volts
2 = single-endad +/- 5 volts
3 =single-e ted'8.- 5 volts
4 = diffpreitiang/> 10 volts
5 = diffgrentizi 0 - 10 volts
6 = diffegsntial +/- 5 volts
7= ential 0 - 5 volts
BD | BRAKE RELEASE DELAY 40 |0 brake release |1..32000 métc
delay
BE | BRAKE ENGAGE DELAY 41 (0 brake engage |1..32000 \ msec
delay
CA | ACCEL_CURRENT, 61 |0 accel current 10 rpm/sec
CC | Running CURRENT 18 |0 motor current | 5€ 8 .01 amps
when run
CD | IDLE_CURRENT_DELAY, 4F |0 delay timay, \‘2000 msec
Cl | IDLE CURRENT 19 [0 mot 500 /1000 / 500 .01 amps
when idle
CM | CONTROL_MODE, 10 %& ﬁde 7,10..18, 21,22
EF | Encoder Function D6 ction code [0,1,20r6 0 = Encoder function off
1= Stall detection
2 = Stall prevention
6 = Stall prevention w/ time-out
ER | ENCODER_RESOLUTION, |20 |0 encoder line | 50..32000 lines/rev (counts/rev/4)
p3 count
FI' | Filter Input L0 |ip filter value 0..32767 CPU cycles
FX | Filter Select Inputs 0 input bank Oor1 1=IN/OUT1, 0=IN/OUT2
HG | harmonic smoothj 0 gain 0..32000
HP | harmonic smog 0 phase +/-255
PF [ POSITION_ , 21 10 posn fault 1..32000 encoder counts
\ % limit
PM | OPERATI ODE, 44 mode code 20r7
SF | STEP_FILTER_FREQUENCY, | 6 freq 100..25000 0.1Hz
I/O Commands
AD | ANALOG_DEADBAND D2 deadband 0..255 mV
AF | ANALOG_FILTER_GAIN, 4C freq 0..32000 Filter value = 72090 / [ (1400 /
Hz ) +2.2]. 0=no filter
AG | ANALOG_VELOCITY_GAIN, |3B |0 speed at full | +/-32000 251pm
scale
Al | ALARM_RESET INPUT 46 |0 state 1.3
AO | FAULT OUTPUT 47 10 state 1.3
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AP | ANALOG_POSITION_GAIN, (4B |0 posn at full 1..32000 steps
scale
AS | ANALOG_SCALING D1 |0 input range 0.7 0 =single-ended +/- 10 volts
1 =single-en¢ad 0 - 10 volts
2 =single- - 5volts
3=sin - 5volts
4 =4 +/- 10 volts
5 = diffefzntial 0 - 10 volts
6 = diiferential +/- 5 volts
G 7 <differential 0 - 5 volts
RE | DSP RESET A4 [0
AT | ANALOG_THRESHOLD, 40 |0 threshold +/-32767 f \ ADC Counts
voltage 0 32767 = +10 volts
-32767 =-10 volts
AV | ANALOG_OFFSET, 3C offset ADC counts
AZ | AUTO_OFFSET Al [ 2al\\°
BD | BRAKE RELEASE DELAY 40 brake.r VZOOO msec
delay
BE | BRAKE ENGAGE DELAY 4110 rake tﬂga e |1..32000 msec
y
BO [ BRAKE_QUTPUT, 48 |0 1.3
DL | DEFINE_LIMITS, 42 10 1.3
Fl FILTER_INPUT GO [io filter value 0..32767 CPU cycles
FX | FILTER_SELECT_INPUTS [ D3 input bank 0O=extended, 1 = main
board
JD | JOG_DISABLE Af 0
JE JOG_ENABLE f direction 1=cw enable, 2=ccw
enable, 3=both
MO [ MOVE_OUTPUT, 0 state 1.3
MO [ MOVE QUTP. i state 1.3
STF, TSM/T
S| |ENAB 0 state 1.3
SO | Set Qutput 0 cond [io ST.Y1.Y4, LorH see 10 Encoding Table
STACS: 1.4, Y1Y2. L
orH
Tl | Test Input A8 [0 cond [io ST. X0..X8, L/H/F/R see 10 Encoding Table
STACS: X0..X4,1..8.
L/H/F/R
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Register Commands

RX | REGISTER_LOAD AE | reg | value (16 or 32 bits, reg: A.Zor0.9 see register code table
depending on register type) value: +/- 2147483647

(long data registers)

+/- 32767 (short data

registers) %

TR | Test Register Immediate AC |reg | value (16 or 32 bits, reg: a.zorA.Zor0.9 se@ de table

depending on register type) value: +/- 2147483647
(long data registers)

+/- 32767 (short da 4
registers)
Q Program Commands

AX | ALARM_RESET BA |0 |
QX | Queue Load Execute 78 |0 segment 1.12
WD | WAIT_DELAY_REGISTER |BF |reg | ’ 50N 7 0r 0.9 see register code table
\\
4
A
2
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Table 2: Message Type 2 Commands
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83 Parameter Write see Table 3 write a 16 bit parameter to a register. Add 128 (0x80) to operand for
non-volatile (flash) write
84 Parameter read see Table 3 Returns the 16 bit parameter indicated by operand
87 Read alarm code 0 Returns alarm history value indicated by operand
88 Read Encoder/Abs Posn |0 Returns the 32 bit encoder position
1 Returns the 32 bit absolute position
8B* Set Output (immediate) bit 7 state, bits 0-6 output | Set the given output to given state.
8E Clear Fault (AR) 0 Clear the drive fault. A motor enable must be sen@able the
motor
98 Stop Motion, Kill Buffer decel rate stops a move, purge all commands from@ se quick decel
(SK) (AM), 1=use normal decel (DE or JL
9E** Write Q Register (RL) see Reg Encoding table write a 16 or 32 bit parameter to a Q regﬁter (A.Zor0.9, etc)
9F Read Q Register (RL) see Reg Encoding table read a 16 or 32 bit Q register Zor0..9, etc)
A Queue Load (QL) 0 load incoming Type 1 ¢ into Q buffer
A2 Queue Save (QS) segment number 1..12 saves Q buffer as a (.seg
A3 Stop Motion (ST) decel rate stops a move. decel (AM), 1=use normal decel (DE or
JL)
FF UDP port reset 0 Ope N\W?S and listens for a new connection
1 G ai_wesets UDP port 7775
*Type 2 Set Output Immediate (opcode 8B) operand ta
02 03 q § 705 80 | 81 | 8 | 8 | 84 | 8
QuT3 OuT? | OUT2 | OUT3 [ OUT4
hig i low low low low
U;& QUT2 | OUT3 [OUT4 | Y1low | Y2low [ OUT1 | OUT2 | QUT3 | OUT4
high high | high low low low low
& Y1 low
Y3 Y4 Y5 |Y6 Y1low | Y2 low | Y3 low | Y4low | Y5 low [ Y6 low
h high | high high high [ high
*Q re@y are not range checked, so be careful before you write.
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Table 3: Parameter read/write operands

All values are HEX

Read/write
- MISC_FLAGS 5B F
-- ENCODER_ATTEMPTS, 62
AC P_TO_P_ACCEL, 1E A
AD ANALOG_DEADBAND, 22
AF ANALOG_FILTER_GAIN, 4C !
AG ANALOG_VELOCITY_GAIN, 3B H |
Al ALARM_RESET, 46 _|
AM MAX_ACCEL, 16
AN ANALOG_TORQUE_GAIN 3D
AO ALARM_OUTPUT, 47
AP ANALOG_POSITION_GAIN, 4B /\__
AT ANALOG_THRESHOLD, 4D _-br
AV ANALOG_OFFSET, £ [z
BD BRAKE_DELAY, ¢ \ L4b
BE BRAKE_DELAY 2, [
BO BRAKE_OUTPUT, _— [ 48
CA ACCEL_CURRENT [STM only] 61
CC MAX_CURRENT \ 18 N
CD IDLE CURRENT DELAY 4F
CF Anti-resonance Frequency 50
CG Anti-resonance Gain _ 51
Cl IDLE CURRENT 19 0
oM CONTROL_MODE, u 10
CN CONTROL_MODE##, 27
Cp PEAK_CURREMT, ™ 19 0
DD DEFAULTADISRLAY, 5E
DE PAC P L3CoL, 1F B
[DL | DEFIG, AMITS, 42
DO DBOWRATIO_N, 23
ED ENC_DIRECTION, 5F
EE FULL_ENCODER_RESOLUTION,// 28
EG Steps/rev divided by 2 26 R
EN ELEC_RATIO_N, 2A
ER ENCODER_RESOLUTION, 20
EU ELEC_RATIO_D, 2B
FA ANALOG_FUNCTION 2D
GC CURRENT_COMMAND, 12
920-0002 Rev.V 366

12/16/2019



https.//www.bjmoons.com

GV VOLTAGE_COMMAND, 13
HG HYPERBOLIC_GAIN,

HP HYPERBOLIC_PHASE,

JA VM_ACCEL, 1B K

JL VM_DEGEL, 1C L

M JOG_MODE, 55 M

JS VM_VELOCITY, 1A M

KC CURRENT_FILTER_GAIN, 51

KD DAMPING_GAIN, D J
KE DAMPING_FILTER_GAIN, 4F N
KF VELOCITY_DAMPING, PROPORTIONAL GAIN A 9
KG GLOBAL_GAIN, 24

KI INTEG_GAIN, 8

KJ JERK, B

KK INERTIA_FF_GAIN, C iR N\

KL VELOCITY_DAMPING, N

KP GLOBAL_GAIN, o

KV VELOCITY_GAIN, _,'9

MA MASK_ALARM, [ 60

MO MOVE_OUTPUT, N |49

MV ModelNum:F/W version 1

PD POSERR_RANGE, N 71

PE INRANGE_COUNT, RN\ 72

PF POSITION_FAULT, NN 21

PK PARAMETERS_LOCK, \ 5D

PL IN_POSITION_COUNT, 14

PM OPERATION_MODE, 44

PR PROTOCOL, 59

PT Pulse Tyge&ﬂi‘ly) 3F

PV STEPSZ 1 QY._FD) 29

SF ST\ FILTER_FREQUENCY, 6

Sl SPRVO_ENABLE, 45

sz STEP_MODE, 3F

D ACK_DELAY. 5A

70 TACH_OUT_COUNT, 64

T STEP_COMPLETE_CHECK_PER, C

v TORQUE_VALVE, 65

Ve CHANGE_VELOCITY, 4A U

VE P_TO_P_VELOCITY, v
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VF VELOCITY_VOLTAGE_FF, 22
Vi VELOCITY_MODE_INTEG_GAIN,// F
VP VELOCITY_MODE_GAIN, E
VR VELOCITY_VALVE, 63
C CLAMP_CONT, 57
R CLAMP_RESISTANCE, 56
T CLAMP_TIME, 58
Read Only
-- DSP firmware letter 8E
- Hall Pattern (SV7 only) 8F
- Sub Model (STM only) 90
- IsServo (ST/SV only: 1=servo, O=stepper). Can be used to tell if 91

drive is servo or stepper %
AL alarm code 81 Q
BS Buffer Status 94 %
EP encoder count upper
EP encoder count lower A&
1A command voltage (Ain) ’ N a
IC command current 88 c
10 Output Status (reads back outputs) 95
1Q actual current R 89 q
S IN/OUT 2 input status [STACS only] &\ 8 |y
ISX IN/OUT 1 input status \ 82 i
IT drive temp 87 t
u supply voltage 86 u
v actual speed 8B v
V1 target speed 8C w
IX position error ’ 8A X
oP DriveOptio aﬂ&n indicating presence of option boards. 92

Bit 0 ={Cod

Bi

Bi&éﬂopen

% erved
t 4'= Resolver

Bit 5 = MCF (encoder in and out — SV7 only)

Bit 6 = Ethernet
SC status word 80 S
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IO Encoding Table

Useful ASCII values for IO commands
On STACS5, inputs X1-X4 and outputs Y1 & Y2 are on the DB15 (IN/OUT 1) connector. Input XO is the

encoder index signal. Inputs 1-8 and outputs 1-4 are on the DB25 (IN/OUT 2) connector.

ST5 & ST10, STACS SSM23, TXM34 SV200
STF, TSM34 STM23/24,
SWM24, TXM24

n/a 0xBO | encoder index signal | encoder index signal | encoder index signal | encoder index signal™\l index
n/a 0xB1 input X1 or output Y1 | input X1 or output Y1 | IN1/STEP or QUT input X1 or ou %;}IM
n/a 0xB2 input X2 or output Y2 | input X2 or output Y2 | IN2/DIR input X2 o m ) X2/Y2
n/a 0xB3 | input X3 or output Y3 [ input X3 IN3/EN input X3 @’Jt Y3 | X3/Y3
n/a 0xB4 input X4 or output Y4 | input X4 n/a innut X4 P X4/Y4
n/a 0xB5 input X5 n/a n/a S X5/Y5
n/a 0xB6 | input X6 n/a n/a X6/Y6
n/a 0xB7 input X7 n/a n/a n/a X7
n/a 0xB8 | input X8 n/a na é‘ n/a X8
n/a - input X9 - (‘\\ - X9
n/a - input X10 - E N\° - X10
n/a - input X11 - - X1
n/a - input X12 - X - X12
1 0x31 n/a input 1 or ot 1 € IN1/STEP - Fl only n/a X09
2 0x32 | n/a input 2 (\‘m& IN2/DIR - Fl only n/a X10
3 033 [n/a input S0rutput 3 [ INS/EN - Fi only X3 - Fl only X11
4 0x34 n/a output 4 n/a X4 - Fl only X12
5 0x35 n/a n/a X5 - Flonly
6 0x36 | n/a P n/a n/a
/ 0x37  |na = o [input7 n/a n/a
8 0x38  |nfa ™ ) input 8 /a /a
L 0x4C te Esed) low state (closed) low state (closed) low state (closed) low
H 0x4 ate (open) high state (open) high state (open) high state (open) high

‘ R Ox ising edge rising edge rising edge rising edge rising
F 4 falling edge falling edge falling edge falling edge falling

369

920-0002 Rev. V
12/16/2019



Register Encoding Table

0 Accumulator 0x30 long
1 user defined 0x31 long
2 user defined 0x32 long
3 user defined 0x33 long
4 user defined 0x34 long
5 user defined 0x35 long
6 user defined 0x36 long
7 user defined 0x37 long
8 user defined 0x38 long
9 user defined 0x39 long

user defined
; user defined
< user defined
= user defined
> user defined ‘(.0
? user defined ’ \\6X3F long
@ user defined 0x40 | long
[ user defined 0x5B | long
\ user defined \ ¢ 0x5C | long
] user defined N 0x5D | long
A user defined RN O0x5E | long
_ user defined \\\ ) 0x5F | long

user defined N 0x60 long
a analog command IA 0x61 short yes
b Q line number . 0x62 | short yes
C current command 05 - IC 0x63 | short yes
d relative distan o~ ID 0x64 long yes
e encoder IE, EP 0x65 long yes
f alar AL 0x66 long yes
g \@ i 0x67 | short yes
h condition code 0x68 short yes
i Xinputs (IN/OUT 1) ISX 0x69 | short yes
j analog IN1 IA1 0x6A | short yes
k analog IN2 IA2 0x6B | short yes
I absolute position 0x6C | long yes
m control mode CM 0x6D | short yes
n velocity mode state 0x6E | short yes
0 point to point state Ox6F short yes
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p Q segment 0x70 short yes
q actual current 1Q 0x71 short yes
r average regen power 0x72 short yes
S status code SC 0x73 | short yes
t drive temperature IT 0x74 | short yes
u bus voltage U 0x75 short yes
v actual velocity VO 0x76 | short yes .
w target velocity V1 0x77 | short yes \
X position error IX 0x78 long yes
y IN/OUT 2 inputs IS 0x79 | short S
z phase error Ox7A | short y!
A accel rate AC 0x41 sh% L4
B decel rate DE 0x42 t

C change distance DC Ox4 g

D distance DI long

E position offset \ long

F other (misc) flags Y4 %@46 long

G current command GC oxar | short

H analog velocity gain 0x48 | short

I input counter 0x49 long

J jog speed 0x4A | short

K jog accel rate 0x4B short

L jog decel rate 0x4C | short

M max velocity J 0x4D [ short

N continuous current CC Ox4E | short

0 idle current 14 | Ox4F | short

P absolute position c@ ’ 0x50 long

Q reserved 0x51

R steps/rev EG 0x52 | short

S puls% 0x63 | long

T t 0 0x54 long

U cEgeiSpeed VC 0x55 | short

V velocity VE 0x56 | short

W time stamp 0x57 | short

X analog position gain AP 0x58 | short

Y analog threshold AT 0x59 | short

VA analog offset AV 0xbA | short
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EtherNet/IP And Q Programs

To provide additional functionality and autonomy, Q programs can be stored in EtherNet/IP drives. These
programs can be started and stopped “on demand” using explicit messaging. The Q Programmer application is
used to compose, download and test Q programs. Please avoid sending EtherNet/IP messages to the drive while
the Q Programmer software is running.

To start a Q program from an EtherNet/IP message, you must send a Type 1 message with opcode 0x78 (the
QX command) or the “QX” command through the Output Assembly with command “0Ox0a”. You’ll need to specifiy
the Q segment number, as shown in the example. This allows you to store up to 12 Q segments, or subprograms,
and operate them independently. Q segments can also call each other once one has been started.

Example: Starting Q Segment 1
QX1 start Q segment 1
opcode  0x0078 from Table 1

operand  0x1 segment 1 (up to 12 segments are allowed in a Q program)

Type 1 Command Message Payload Type 1 Response Message Pnyload_
byte 0 0 reserved byte 0 0 reservec.

byte 1 2 message type byte 1 2 mes: e;ge, type

byte 2 0 not used byte 2 0 1ot U sed

byte 3 78 operand byte 3 78 | _l_werand

byte 4 0 unused byte 4 ? Status Code MSB
byte5 |0 unused byte5 <2 " |Status Code LSB
byte 6 0 unused byte'@ _| 0 not used

byte 7 1 segment number byte 7 |0 not used

Once a Q segment has begun, Type 1 messaqessare no longer permitted, because the CPU is busy
executing the commands in the Q segment. To stop,a+)) program, you must use a Type 2 “SK” message (opcode
98, as shown in the next example). Q programs aiscistop running if they encounter a blank line in the segment.
This makes it possible to launch a segm¢anty hiava it complete a task, and stop by itself.

Example: Stopping a,Q Krogram

SK stop the Q pregram

opcode 0x98 fremTabl: 2

operand decel! ratey(0 - use quick decel rate from AM, 1 = use normal decel rate from DE or JL)

Type 2 Caminalr. Yvessage Payload Type 2 Response Message Payload

byte 0_ o~ L reserved byte 0 0 reserved

byte 1 4 message type byte 1 2 message type

byte 2 98 opcode byte 2 98 opcode

byte 3 0 operand byte 3 0 operand

byte 4 0 not used byte 4 ? status code MSB

byte 5 0 not used byte 5 ? status code LSB

byte 6 0 not used byte 6 0 not used

byte 7 0 not used byte 7 0 not used
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Communicating with a Q Program While It’s Running

You can use Type 2 commands to read and write registers while a Q program is running. The Q program
can send information to the host by changing a register that the host is polling. Registers 0 - 9 can be polled
using the Type 2 User Register Read command (opcode 9A).

The host can make changes to the Q program operation by writing to parameters that the program uses. For
example, you could change the motor speed sending a parameter write message that alters VE (Type 2 message,
opcode 83, operand 1D). The speed change will take effect on the next move.

Changes that affect a Q program immediately can be made using the Write Q Register command (message
type 2, opcode 9E). For example, if the motor is jogging after having been sent a CJ command, writing to register
J will result in an immediate speed change. Please note that Q register writes are not range checked, so be
careful before you write.

How to Know if a Q Program Has Stopped

Since a Q program can be launched and allowed to stop itself when it encounters a blaline, you may want
to know when it stops. You can do this by polling for the status word and observing kit 14. Zhis bit is a one if the
program is executing. To fetch the status word, use the Type 2 Parameter Read coinsfiand with operand 0x80 as
shown below.

Example: Checking Status While a Q Program is.Runiing

opcode 0x84 parameter read, from Table 2
operand 0x80 status code, from Table 3

Type 2 Command Message Payload Type 2 F;sponse Message Payload
byte 0 0 reserved Tyne 0 0 reserved
byte 1 2 message type !—b)_te 1 2 message type
byte 2 84 opcode ; ‘byte 2 84 opcode
byte 3 80 operand | N byte 3 80 operand
byte 4 0 not used | byte 4 ? status code MSB
byte 5 0 not ugzd L byte 5 ? status code LSB
byte 6 0 neeused byte 6 0 not used
byte 7 0 _I_m; used byte 7 0 not used
Typical return! Qluey;
0001 i “Otor er.abled, Q program not running
4001 Motct enabled, Q program running
4801 Motor enabled, Q running, Wait Time command executing
4019 Motor enabled, motor moving, Q running

For more information about the status code, please read about the SC command in the main part of this
manual.
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EtherNet/IP on large networks

Once a computer connects to an Applied Motion EtherNet/IP drive with Applied Motion software such as ST
Configu ator, STAC Configu ator or Q Programmer, that connection is maintained until power is cycled. In most
cases this will be acceptable because only one computer will ever need to connect to the drive for monitoring or
Q program download. In large complex installations however, it may simply not be feasible to cycle power to the
machine every time a new technician connects to the drive.

To address this, we have implemented opcode OxFF. Using an operand of 1 will allow the user to forcibly
reset the maintenance port (UDP port 7775), effectively yielding control of the drive. Once reset, the port must
be reinitialized, which requires opcode OxFF to be sent again, this time with an operand of 0. This will instruct the
drive to accept a new connection from the next computer that tries to connect using Applied Motion software.

It is important to understand that only one host computer may be connected to the drive at aay\qiven time.
To change hosts again, simply repeat the sequence.
Example: Close and reset UDP port for access by another host
opcode OxFF from Table 2
operand 0x1 Close and reset UDP port 7775.

Type 2 Command Message Payload Type 2 Response Messaj-e r_a;/Ioad
byte 0 0 reserved byte 0 0 | l_%;g_/ed

byte 1 2 message type byte 1 2 L Jﬁ essage type
byte 2 FF opcode byte 2 Fl-_ opcode

byte 3 0 not used byte 3 o not used

byte 4 0 not used byte [7 Status Code MSB
byte 5 0 not used | byte 5 N\ ? Status Code LSB
byte 6 0 not used Lb_w‘e 6 0 not used

byte 7 1 operand l vyte 7 0 not used

Remember, this is a two step process, First tive port must be closed and reset, as shown above. Once
reset, the port must be opened for new ct¢ aneciions, which may be accomplished by sending opcode FF again,
but this time with an operand of 0.
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Host Command Reference

AL - Alarm Code - {204

Compatibility:  All drives
See also:

Al, AR, AX commands, Appendix

Reads back an equivalent hexadecimal value of the Alarm Code’s 16-bit binary word.

Command Details:

Structure AL
Command Type IMMEDIATE
Usage READ ONLY
Non-Volatile NO [
Register Access “f” (054) |
Note: response to AL command is a different format thag, !
the response to the RLf command. See Appendix F for
details.
Units Hexadecimal value of 16-bit binary word (_’ik;elr,v)
Response Details:
Hex Value BLu SV stace N st | STM
0001 Positioi. Limit
0002 CCW.,Lini Y
0004 C; _LITTT
0008 Over Temp
0010 Excess Regen*l Internal Voltage | cxcess Regen | Internal Voltage | Internal Voltage
0020 -\‘Sver Voltage
0040 Under Voltage* | Under Vc,’tq‘_ge—_| Under Voltage | Under Voltage | Under Voltage
0080 N\ Over Current
0100 Bad Hall S« ;A | Open Motor Winding
0200 | Bad Encoder | (not used)
0400 Comm Error
0800 Bad Flash
1000 _Wizard Failed No Move
2000 _(‘-:rent Foldback Motor Resistance (not used) (not used)
Out of Range
4000 - Blank Q Segment
8000 —|_ No Move (not used)

* BLUAC drives only

NOTE: Items in bold italic represent Drive Faults, which automatically disable the motor. Use the OF
command in a Q Program to branch on a Drive Fault.
NOTE: See Appendix for more detailed information on Alarm Codes.

Examples:
Command Drive sends
AL AL=0000
AL AL=0001
AL AL=0201

Notes

No alarms

Position limit alarm

Position limit and bad encoder signal alarms
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Host Command Reference

SC - Status Code - RS

Compatibility:  All drives
See also: RS command

Requests the current drive status as the Hexadecimal equivalent of a binary word. Each bit in the binary word
relates to a status condition (see assignments below). The representation of this binary word as a hexadecimal
value is called the Status Code. Drives can have multiple status conditions at one time, and host systems can
typically interpret a Hexadecimal code very quickly. See Appendix E for more details on the Status Code.

Command Details:

Structure SC \ —l
Type IMMEDIATE \ )
Usage READ ONLY T
Non-Volatile NO =
Register Access None
Units Hexadecimal equivalent of the binary statis m(fvvord (see bit
assignments below) AN
RIRIETE:
Hex Value | IKZSEBAIE X ;_
0001 BB & ERE(INRILAIA0, MEHEEEE A
0002 BUAE (A FIRIE I 1 28) _
0004 KRB FE (R EIREK D)
0008 Bl (YA o I\
0010 BEI(FRILEEIE) o N\
0020 SAH(BRLTRIER) w0\
0040 ZIE(EFLE ML EIEREE f)
0080 EHEA ML, ATV IR
0100 RE(EERFSEEIE)
0200 REFE (KTRENRAD)
0400 EEERS (FrilfTSHRS
0800 FRF (S Hian FUTWDRWTHL)
1000 [0 S FIEL, (EREF EEIET)
2000 - SRS R (1 B R 3 E£EIETT)
4000 _I\_v‘rE;TEEiz::ﬁ
8000 (IR (E R BN 2 )
-+

Command X5 38 & 1% TR

SC SC=0009 =188 EFMALFF B A (752 H1{E0001F10008)

SC SC=0004 IRz B APE 3 25 A (+ 71 3t H1{E0004)

SC SC=0209 Eﬁiﬂiﬁﬂﬁ?ﬁ%—‘, LFEEHEER (+738H/{E0001. 0008FA

0200
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